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recursie

n=1 / n=2
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terug naar Britney

Gen. 1 ) —= \/
—

Gen. 2 [ 9 +
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http://www.math.okstate.edu/mathdept/dynamics/lecnotes/nodel7.html




v
>
C
>
9,
C
o
@)
(T
C
O

(@\|
Salia upgs -
muiannin mulunsln
| 0 0
- ) U "u| _
0 2P H
_ [ _|__“||||||__||_
| ] Eg o
0 O
m =a= Hth ©
O O miln
- _|_ = _|_“||_
0 | 0 1o mpn| -
T - 1 =ps i
u i
- 0 .
mln|
| [
.
T s
O - O
— ]
| 0 mpn|
O o
| T
o0 n L
0 O
i S o e R
T mlm 0
i = = mlln
O _|_| g
HHH _ S
0 | 0 mpm|
S e
] [
O
0 HH 9B S
.  BH 0+
] g dthadthon
O - O o d o O
[ [ - ]
| 1 N T N T
[
tH = Ch ) U o
[N LI aE T _I_
O o O o o Ot
o
0 O
5
L HH
U ]
oC — o
I | T T
e
ul 1
- S
ot ® o ©
| ] T

gedraaid



turtle graphics

X => -X+4Y-
Y -> 4+X--Y+
X,Y represent F X

where
- means rotate 45 degrees to the right,

+ means rotate 45 degrees to t% left, and
F means draw forward one unit.

1 -X++Y- Y

2 == X++Y-+++X--Y+-

3 —==X++Y -+ X =Y+t =X+ +Y = ==X ==Y+ + -
4 ———=-X++Y-+++X= =Y+ -+++-X++Y ===+ X-=Y++-+

++——X++Y -+ ++X-=Y+-——+-X++Y-——+X - = Y+++-




full screen
F4 ghostview
F11 explorer

Sierpinski {
Angle 8
Axiom L--F--L--F
L=+R-F-R+
R=-L+F+L-



postscript definities

%! PS
/order 5 def

/X {
dup 0 ne
{1 sub 4 {dup} repeat - F X + + F Y -}
if pop
1 def
/Y {
dup 0 ne
{1 sub 4 {dup} repeat + F X - - F Y +}
if pop newpath
} def 220 180 moveto
50 order { 2 sqrt div }
JF { repeat dup scale
0 eqq{10 0 rlineto } 1if 90 rotate
} bind def order X
stroke

/- { -45 rotate } bind def
/+ { 45 rotate } bind def showpage






